Kuta Software - Infinite Algebra 1 Name

Writing Linear Equations Date

Write the slope-intercept form of the equation of each line.

1) 3x—2y=-16 (Y= myrb) 2) 13x—11y=-12

3) Ox-Ty=-7 4) x—-3y=6

5) 6x+5y=-15 6) 4x-y=1

7 11x—4y=32 8) 11x—8y=-48
pomi- slope

Period

Write the sf4r@asddsgny of the equation of the line through the given point with the given slope.

9) through: (1, 2), slope=7 10) through: (3, -1), slope =-1

11) through: (-2, 5), slope =-4

5
12) through: (3, 5), slope = E



13) through: (2, —4), slope=-1 14) through: (2, 5), slope = undefined

16) through: (-1, 2), slope =2
15) through: (3, 1), slope:% ) through: ( ), slope

Write the gotut-ghagéfoym of the equation of the line described.

\l.‘: W X+ &
17) through: (4, 2), M@W&; 18) through: (-3, =3), Ml@%%
-2 7
Slope of - Slepe of 3

h: (-1, 4),
19) through: (4, 0), WQ@@ 20) through: (-1, 4)

S,opt of _3/

21) through: (2, 0), FRARIABGI PO 22) through: (4, -4), peFeHeo SBRLFE
SIOPQ- of % @é .Slope, of -1

23) through: (-2, 4), ¢aralePipe
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Write the slope-intercept form of the equation of each line.
1) 3x-2y=-16 2) 13x-11y=-12
3 LN
y=ots ETRRNT
3) 9x-Ty=-7 4) x—3y=6
1
)=~3-x+1 v=5.\‘—2
5) 6x+5y=-15 6) dx-y=1
6 r=4x-1
)!:-——_x_3 ) )
5
7) 1lx-4y=32 8) 11x—8y=—48
11 i1
y=—x-38 y=—x+6
4 T

Write the standard form of the equation of the line through the given point with the given slope.

9) through: (1, 2), slope=7 10) through: (3, -1), slope =-1

V-2 = 7()('() \)*l :_<x~3w

11) through: (-2, 5), slope =—4
LAANAAR

V-5 = -4 lxiz)

12) through: (3, 5), slopezg
AMANNAG

-5 = 303)



13) through: (2, —4), slope =—1 14) through: (2, 5), slope = undefined

\/r 4 = -(x --Z)
16) through: (-1, 2), slope =2
ke
V-zo= 2(x )

15) through: (3, 1), slope =%
WAAA
V1= 2(x-3)
Werite the p#iftssiafiesftuam of the equation of the line described.

\!;W\ K+ b
17) through: (4, 2), @m&g@% 18) through: (=3, -3), m@%

p-2= = (x4 yHI==(eed)
e
Yoz -2k 3 UL
L7 H + 2 / - _Z X il l.{
T\/ = "R "5;] 20) through: (-1, 4),
19) through: (~4, 0), pmﬁeﬁg,@éée,
. ‘3?_ y—4==5(x+ 1) vwA = =3
. vi= = - -
p=xed) I V-H=-5x ,‘5
4 i -I 'f"—l
2 \/1 & _C) % =1
) H
S md= O 'i‘j) l rﬁ
]
K \J 1 ) 22) through: (4, —4). fallsPlo =C=x=ed-
21) through: (2, 0), W@W
) y+d=—(x—4) wm ==

m= L




